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)
A knot diagranﬂ G G G & G2 &6 &G

Ideals for irreducible component#ﬂ)f Xpar

=™ —u™ 4+ +du® +1)

* 1 irreducible components of dim¢ = 0, with total 79 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u™—u™®+4-. . +4u3+1)

(i) Arc colorings

= (3)

0

a6 = u
1

as = _u2

U
a? == u

wrtut+1
a4 pry U4

uw?+1
al = 77,[/4

—u" —2ud — 2u3
ag = \u® +u” +u® +u

w'? + 300 + 508 +4uS + 2ut +u? + 1

a12 = \ —yM — 212 — 310 — 248 — 208 — 20t — /2

—ul” — 4yt — 9yt — 1201 — 11u° — 8u” — 6u® — 4ud —u
ag = \u' +3u!” 4+ 6ul® + Tul + Tult + Tu® + 607 +4ud +ud +u

—u?5 —8u3d + . — 8uS —u?
a5: u37_~_7u35+.'+u3+u

u?? +5u0 + - 4202 + 1

11 = \ 422 + 4429 + 98 + 126 + 10w + 6u'? + 3ul0 4+ 208 — ub — 2u* — w2

—uf — 1405 + ... — 8u® — 2u
ao =\ —u% —13u + - +2u’ + u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u™ + 44" + .- — 8u? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® +35u" + - 4 8u? -1
C2,Cq u? — a4l 1
€3 u™ +u™ e+ 9u 2
C4, C10 u® = =20t 1
C5,C11 u™ —3u™ 4 ... — 445u + 88
c7,Cg,C12 u® =5 —24u+1
9 w4 — 4?1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Yy 4+ 19y + .+ 16y — 1
2, Ce 0+ 35y -+ 8y2 -1
c3 Y™ 43y 130y — 4
¢4, €10 Y™ — 41y 4 4y -1
Cs,C11 y™ + 51y + ... 4 140825y — 7744
¢7,C8, C12 Yy Ty 4 4 T2y — 1
Co g 5y b8y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.518439 4 0.8399771 —2.47695 + 1.612201 0
u = —0.518439 — 0.8399771 —2.47695 — 1.612201 0

u = —0.250874 4 0.9358001

—2.18929 + 0.788481

—9.38930 — 3.304171

u = —0.250874 — 0.9358001

—2.18929 — 0.788481

—9.38930 + 3.304171

u= 0.472540 4 0.9287091

—0.19704 + 2.195031

0

u = 0.472540 — 0.9287091

—0.19704 — 2.195031

0

u = —0.777679 + 0.5218091 3.79637 — 7.208501 —1.29301 + 5.789141
u = —0.777679 — 0.5218091 3.79637 4 7.208501 —1.29301 — 5.789141
u = 0.790583 + 0.4917751 8.97318 4+ 0.790761 3.03187 — 3.000401
u=0.790583 — 0.491775I 8.97318 — 0.790761 3.03187 + 3.000407
u= 0.776695 + 0.5125271 6.49253 + 2.318551 1.93099 — 2.222631
u= 0.776695 — 0.5125271 6.49253 — 2.318551 1.93099 + 2.222631
u = —0.794225 4 0.4808481 8.91071 4 3.991661 2.81554 — 3.575921
u = —0.794225 — 0.4808481 8.91071 — 3.991661 2.81554 4 3.575921
u= 0.799974 + 0.4521521 3.40222 — 10.364201 —1.86089 + 6.025601
u= 0.799974 — 0.4521521 3.40222 4 10.364201 —1.86089 — 6.025601
u = —0.795010 + 0.4577681 6.18261 + 5.441951 1.37667 — 2.617541
u = —0.795010 — 0.4577681 6.18261 — 5.441951 1.37667 + 2.617541
u = —0.539580 + 0.7405551 —2.19284 — 5.951361 —3.06972 + 7.351831
u = —0.539580 — 0.7405551 —2.19284 + 5.951361 —3.06972 — 7.351831
u= 0.078728 4 1.0826701 —3.31194 — 0.084071 0

u= 0.078728 — 1.0826701 —3.31194 + 0.084071 0

= —0.758214 + 0.5093081

S
|

2.23994 + 0.998951

—3.29257 — 0.532891

= —0.758214 — 0.5093081

S

2.23994 — 0.998951

—3.29257 + 0.532891

u= 0.782931 + 0.4511181

1.90919 — 1.955141

—3.75115 4+ 0.1

u= 0.782931 — 0.4511181

1.90919 + 1.955141

—3.75115 4 0.1

u = —0.057574 4+ 1.1021507

0.80009 + 3.566471

u = —0.057574 — 1.1021507

0.80009 — 3.566471

uw = —0.011598 + 1.1038201

3.36202 + 2.328951

u = —0.011598 — 1.1038201

3.36202 — 2.328951

[ev] Rew] Ben] Ran]




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.330330 + 1.0539401 —4.29872 — 0.608271 0
u = —0.330330 — 1.0539401 —4.29872 + 0.608271 0
uw=0.315571 + 1.0694601 —7.52343 — 3.775171 0
w=0.315571 — 1.0694601 —7.52343 4 3.775171 0
uw= 0.066591 + 1.1133301 —1.99034 — 8.404321 0
u= 0.066591 — 1.1133307 —1.99034 4 8.404321 0
u = 0.518854 + 0.9881021 0.41468 + 2.883531 0
u = 0.518854 — 0.9881021 0.41468 — 2.883531 0
u = —0.430212 4 1.0312201 —3.49022 — 3.245681 0
u = —0.430212 — 1.0312201 —3.49022 + 3.245681 0
u= 0.345422 + 1.0715601 —7.79780 + 4.705211 0
u=0.345422 — 1.0715601 —7.79780 — 4.705211 0
uw=0.472065 + 0.7069721 0.43948 4 1.749191 0.70667 — 4.058741
u= 0.472065 — 0.7069721 0.43948 — 1.749191 0.70667 4 4.058741
u = —0.530932 + 1.0323207 —0.41303 — 6.783301 0
u = —0.530932 — 1.0323207 —0.41303 + 6.783301 0
u = —0.498801 + 1.0796101 —3.17706 — 6.374391 0
u = —0.498801 — 1.0796101 —3.17706 4 6.374391 0
u = 0.484264 + 1.0864401 —6.87950 + 2.432821 0
u= 0.484264 — 1.0864401 —6.87950 — 2.432821 0
uw=0.503668 + 1.0907401 —6.28401 + 10.935301 0
uw=0.503668 — 1.0907401 —6.28401 — 10.935301 0
u = —0.615780 + 1.0566501 0.60926 — 6.207611 0
u = —0.615780 — 1.0566501 0.60926 4 6.207611 0
u = —0.631557 + 1.0553907 2.20395 4 1.893161 0
u = —0.631557 — 1.0553901 2.20395 — 1.893161 0
u= 0.627875 + 1.0603601 4.85794 + 2.981351 0
u= 0.627875 — 1.0603601 4.85794 — 2.981351 0
u= 0.628251 + 1.0755301 7.22967 + 4.546531 0
u= 0.628251 — 1.0755301 7.22967 — 4.546531 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape

= —0.626429 4 1.0819801 7.11532 — 9.331491 0
= —0.626429 — 1.0819807 7.11532 4 9.331491 0
0.612337 + 1.0915201 0.00350 + 7.212551 0

= 0.612337 — 1.0915201 0.00350 — 7.212551 0

0.516957 + 0.5383421

1.69269 + 1.377891

2.70355 — 4.032681

0.516957 — 0.5383421

1.69269 — 1.377891

2.70355 4 4.032681

—0.619167 + 1.0925301

4.28876 — 10.755901

0

—0.619167 — 1.0925301

4.28876 + 10.755901

0

0.619393 + 1.0964301

1.4791 + 15.69111

0

0.619393 — 1.0964301

1.4791 — 15.69111

0

—0.560028 + 0.4135821

1.30119 + 2.388301

0.66864 — 5.361451

= —0.560028 — 0.4135821

1.30119 — 2.388301

0.66864 + 5.361451

0.624420 + 0.2398741

—3.92703 — 6.580681

—5.74395 + 6.546361

0.624420 — 0.2398741

—3.92703 + 6.580681

—5.74395 — 6.546361

—0.582840 + 0.2431621

—0.90156 + 2.126871

—2.58208 — 3.564511

—0.582840 — 0.2431621

—0.90156 — 2.126871

—2.58208 + 3.564511

0.590316 + 0.1854821

—4.44704 4 1.719321

—7.28622 — 0.523221

0.590316 — 0.1854821

—4.44704 — 1.719321

—7.28622 + 0.523221

= —0.396331

—1.15940

—8.74740




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 W 3507 £+ 8u2 — 1
C2, Cq e e (|
€3 u® +u 4+ Ju 2
c4,C10 W - 2t 41
Cs5,C11 u™ —3u™® + ... — 445y + 88
C7,C8,C12 W —5u 24041
9 w41 4~ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
‘1 y™ 19y -+ 16y — 1
€2, Cg y 35y 48t -1
€3 Yy +3y™+ . 139y —4
€4, C10 Yy —Aly 44?1
Cs, C11 Y™+ 51y™ -+ 140825y — 7744
7,08, C12 y O Ty T2y — 1
Co Y 5y 4 18y —1




